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Cuadro 15 (continuación 5)/Table 15 (continued 5)
Nicaragua: tablas abreviadas de mortalidada

Nicaragua: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.034 0.033  100 000  3 340  97 172 0.963 b 6 691 238 66.9
1 4 0.002 0.009  96 660   880  384 415 0.992 c 6 594 066 68.2
5 5 0.001 0.004  95 780   380  477 952 0.996 6 209 651 64.8

10 5 0.001 0.004  95 400   345  476 139 0.993 5 731 698 60.1
15 5 0.002 0.010  95 055   939  472 928 0.988 5 255 559 55.3
20 5 0.003 0.015  94 116  1 400  467 081 0.984 4 782 631 50.8
25 5 0.003 0.017  92 716  1 598  459 586 0.981 4 315 550 46.5
30 5 0.004 0.021  91 118  1 873  450 909 0.977 3 855 963 42.3
35 5 0.005 0.025  89 245  2 221  440 675 0.972 3 405 054 38.2
40 5 0.006 0.031  87 025  2 681  428 421 0.965 2 964 379 34.1
45 5 0.008 0.038  84 344  3 239  413 621 0.956 2 535 958 30.1
50 5 0.010 0.051  81 105  4 116  395 233 0.941 2 122 337 26.2
55 5 0.014 0.069  76 989  5 284  371 733 0.919 1 727 104 22.4
60 5 0.020 0.093  71 705  6 701  341 772 0.888 1 355 371 18.9
65 5 0.028 0.133  65 004  8 615  303 483 0.843 1 013 599 15.6
70 5 0.041 0.185  56 389  10 432  255 865 0.781  710 117 12.6
75 5 0.060 0.260  45 957  11 963  199 876 0.680  454 252 9.9
80 5 0.100 0.401  33 994  13 630  135 894 0.549  254 376 7.5
85 5 0.149 0.535  20 364  10 893  74 586 0.426  118 482 5.8
90 5 0.207 0.660  9 471  6 246  31 737 0.314  43 896 4.6
95 5 0.272 0.762  3 224  2 457  9 979 0.179 d  12 159 3.8

100 ω 0.352 1.000   767   767  2 180  2 180 2.8
Mujeres/Females

0 1 0.027 0.026  100 000  2 647  97 772 0.971 b 7 240 241 72.4
1 4 0.002 0.007  97 353   722  387 592 0.994 c 7 142 469 73.4
5 5 0.001 0.003  96 632   333  482 325 0.997 6 754 877 69.9

10 5 0.001 0.003  96 299   279  480 796 0.996 6 272 551 65.1
15 5 0.001 0.005  96 020   520  478 800 0.994 5 791 755 60.3
20 5 0.001 0.006  95 500   564  476 090 0.993 5 312 955 55.6
25 5 0.001 0.007  94 936   674  472 994 0.992 4 836 865 50.9
30 5 0.002 0.009  94 262   814  469 272 0.990 4 363 872 46.3
35 5 0.002 0.012  93 447  1 113  464 454 0.986 3 894 599 41.7
40 5 0.003 0.016  92 334  1 519  457 874 0.980 3 430 146 37.1
45 5 0.005 0.023  90 815  2 105  448 816 0.971 2 972 271 32.7
50 5 0.007 0.034  88 711  3 027  435 986 0.958 2 523 455 28.4
55 5 0.010 0.050  85 683  4 257  417 776 0.938 2 087 469 24.4
60 5 0.016 0.075  81 427  6 100  391 885 0.909 1 669 693 20.5
65 5 0.023 0.109  75 327  8 236  356 047 0.868 1 277 808 17.0
70 5 0.034 0.157  67 092  10 550  309 083 0.812  921 761 13.7
75 5 0.050 0.225  56 542  12 696  250 968 0.719  612 678 10.8
80 5 0.086 0.354  43 845  15 520  180 427 0.595  361 710 8.2
85 5 0.129 0.484  28 326  13 703  107 371 0.473  181 283 6.4
90 5 0.182 0.611  14 623  8 933  50 782 0.358  73 912 5.1
95 5 0.243 0.721  5 690  4 101  18 197 0.213 d  23 130 4.1

100 ω 0.322 1.000  1 589  1 589  4 933  4 933 3.1

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


